Answer Key for PCCF Recruitment Exam 31st July to 11th Aug
2023 for Objection Handling purpose only
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Section : Marathi Language

Q.1 Erefierd<hl shivra =Tt srem amg ?

Ans X 1.58H
.2

X 3. anfoy
o 4 Tl

Question Type .

Question ID :

Option 11D :

Option 2 ID :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

MCQ
630680292047
6306801136071
6306801136070
6306801136069
6306801136068
Answered

4

canned with OKEN Scanner



Q.2 FEAMUHITER g U= M.

Ans 7 1. Wfaurses
X 2. Hdurseh
X 3. @dlurss
X 4 wfauiss
Question Type : MCQ
Question ID : 630680292037
Option 1 ID : 6306801136029
Option 2 ID : 6306801136030
Option 3 ID : 6306801136031
Option 4 ID : 6306801136028
Status : Answered
Chosen Option : 2
Q.3 ‘Steura WRol' goret ____
Ans X 1. SteiAT de giot
X 2. @ fodt gaorot
o 3. BR GR gl
X 4. zg a0
Question Type : MCQ
Question ID : 630680292041
Option 1 ID : 6306801136044
Option 2 ID : 6306801136046
Option 3 ID : 6306801136047
Option 4 ID : 6306801136045
Status : Answered
Chosen Option : 3
Q.4 ‘A aRER TSR g=al. - suRf@a Prafatyor sreaaran weR sitesar.
Ans X 1. ®iEEs
X 2. nfagsis
o 3. FAATER
X 4. usrdes
Question Type : MCQ
Question ID : 630680292049
Option 1 ID : 6306801136076
Option 2 ID : 6306801136077
Option 3 ID : 6306801136079
Option 4 ID : 6306801136078
Status : Answered
Chosen Option : 3
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Q.5 @l d@AAHITER FIvTd g 311g o siiaaEr.
Ans X 1. s gRATEE gHTS URehT W dled g

X 2. srorar giNfera et urfc 9T gidd Sie.
X 3. arroran giAféra anTst uzdh! HIeT died 318
o 43St GATET THTS TReh! WIS aierd S1e.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 41D :

Status :

Chosen Option :

MCQ
630680292045
6306801136063
6306801136062
6306801136060
6306801136061
Answered

4

Q.6 ‘Surt fRhaa gl reha ATl o’ OT AEHHETHIS! Wielterdeh! gy ereg AasT.
Ans X 1. sffamaft

o 2. A

X 3. g
X 4. st

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
630680292043
6306801136055
6306801136054
6306801136053
6306801136052
Answered

2

Q.7 ‘ufasita w=ot a1 areaErRmET gt st wiorar g ?
Ans X 1. dmar daot

o 2. TITOAT &Rt
X 3. &1y ursut
X 4. gchR ot

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
630680292042
6306801136050
6306801136049
6306801136051
6306801136048
Answered

2

(3 scanned with OKEN Scanner



Q.8 WA AZHHE Ik AT Yuf .
‘detian gt aar fmm=T
Ans X 1.disr
o 2. ATH
X 3. %®u
X 4499

Question Type : MCQ
Question ID : 630680292044
Option 1 1D : 6306801136058
Option 2 ID : 6306801136059
Option 3 ID : 6306801136057
Option 4 ID : 6306801136056
Status : Answered
Chosen Option : 2
Q.9 wgofiar a1y srtear.
‘3fte gehd IS’
Ans o 1. UISI da EhuTR Uy
X 2. Oy g yaau=iaT JuihT guf
X 3. 9id da& feaport u=ht
X 4. 3118 arg e Ty
Question Type : MCQ
Question ID : 630680292040
Option 1 1D : 6306801136041
Option 2 ID : 6306801136043
Option 3 ID : 6306801136040
Option 4 ID : 6306801136042
Status : Answered
Chosen Option : 1
Q.10 @it Terdier HET THT U5 HivTEar g ?
Hd, 94, A, gar
Ans o 1.9l
X 2. 487
X 3.d9T
X 4.9d
Question Type : MCQ
Question ID : 630680292036
Option 1 1D : 6306801136024
Option 2 ID : 6306801136027
Option 3 ID : 6306801136025
Option 4 ID : 6306801136026
Status : Answered
Chosen Option : 1
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Q.11 ‘it &g gitrat & e 0! - sruRfEa gd=mmaT uaR siiear.
Ans X 1. et gdam

X 2. gy gdam
o 3. JHtga TaaH
X 4. JTeHdTdae 9d9m™
Question Type : MCQ
Question ID : 630680292048
Option 1 ID : 6306801136072
Option 2 ID : 6306801136074
Option 3 ID : 6306801136073
Option 4 ID : 6306801136075
Status : Answered
Chosen Option : 3
Q.12 .
fawereft eregr=ar AT SsAT FoEa.
IHO?-IE gal m
a. Heols 1) pHUT
b. 3@R i) 9
c. Egallh iii) ST
d. 98 iv) et
V) 9elleh
Ans X 1. a-ii, b, c-v, diii
X 2. a-i, b-v, cHiii, d-iv
X 3. adii, b, ciii, d-v
o 4. aii, bri, v, d-iv
Question Type : MCQ
Question ID : 630680292035
Option 1 1D : 6306801136020
Option 2 ID : 6306801136022
Option 3 1D : 6306801136023
Option 4 1D : 6306801136021
Status : Answered
Chosen Option : 4
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Q.13 'I¥’ ereET=aT SIS AUNRT 275 hIUTdT 3118 ?
Ans X 1.fa@

X 2.fag
X 3.fe
4 @l

Q.14 a1 IT<FTd HTa2dT I§IR hIeAdT T4, A1 _____ 9T gUTard.
Ans o 1. Igrreft

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 1D :
Option 41D :

Status :

Chosen Option :

MCQ
630680292039
6306801136037
6306801136036
6306801136038
6306801136039
Answered

1

X 2. amrmeft
X 3. Tehard
< 4. usmedt
Question Type : MCQ
Question ID : 630680292046
Option 1 1D : 6306801136066
Option 2 ID : 6306801136067
Option 3 1D : 6306801136065
Option 4 ID : 6306801136064
Status : Answered
Chosen Option : 1
Q.15 SEARTHITaR gE U e,
Ans X 1.af@pa
X 2. agspa
X 3. sfgregd
o 4. afespa

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

MCQ
630680292038
6306801136034
6306801136033
6306801136035
6306801136032
Answered

4

Section : English Language
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Q.1 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

A. In a jungle, there was a big cave.
B. One day Naveen and his friends decided to unfold the mystery.

C. Everyone said it had a ghost living in it.
D. They decided to explore the cave in the night.

Ans ¢ 1. ACBD

X 2. ABDC
X 3.ADCB
X 4. ABCD
Question Type : MCQ
Question ID : 630680292058
Option 1 1D : 6306801136113
Option 2 ID : 6306801136115
Option 31D : 6306801136112
Option 4 ID : 6306801136114
Status : Answered
Chosen Option : 1
Q.2 Read the following sentence and select the option that has a spelling error.
Albert Einstein’s 1916 general theory of relativity first predicted the phenomanon of
gravitational waves.
Ans X 1. relativity
/X 2. gravitational
o 3. phenomanon
X 4.Theory
Question Type : MCQ
Question ID : 630680292053
Option 1 1D : 6306801136093
Option 2 ID : 6306801136095
Option 3 ID : 6306801136094
Option 4 ID : 6306801136092
Status : Answered
Chosen Option : 3
Q.3 Select the most appropriate option to fill in the blanks.
| told anxious parents that __baby needed a lot of sleep.
Ans X 1.a,a
X 2.an,a
X 3.a,the
o 4. the, the
Question Type : MCQ
Question ID : 630680292061
Option 1 1D : 6306801136124
Option 2 ID : 6306801136126
Option 31D : 6306801136127
Option 4 ID : 6306801136125
Status : Answered
Chosen Option : 2
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Q.4 Select the most appropriate synonym of the given word.

Dainty
Ans X 1.Harsh
o” 2. Delicate
X 3.Clumsy
X 4. Smooth
Question Type : MCQ
Question ID : 630680292050
Option 1 1D : 6306801136082
Option 2 ID : 6306801136081
Option 3 ID : 6306801136080
Option 4 1D : 6306801136083
Status : Answered
Chosen Option : 4
Q.5 Select the most appropriate option to fill in the blank.
The distinction _____right and wrong is not always crystal clear.
Ans X 1.from
o 2. between
X 3.of
< 4. among
Question Type : MCQ
Question ID : 630680292062
Option 1 1D : 6306801136130
Option 2 ID : 6306801136129
Option 3 1D : 6306801136131
Option 4 ID : 6306801136128
Status : Answered
Chosen Option : 2
Q.6 Select the option that can be used as a one word substitute for the underlined segment.
In our village there was a large lake used a source of water supply.
Ans X 1.receptacle
X 2. stockpile
< 3.lagoon
o 4. reservoir
Question Type : MCQ
Question ID : 630680292057
Option 1 1D : 6306801136110
Option 2 ID : 6306801136109
Option 3 1D : 6306801136108
Option 4 1D : 6306801136111
Status : Answered
Chosen Option : 3
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Q.7 Select the most appropriate option to fill in the blank.

She dismissed my suggestion.
Ans X 1.badly

o 2. quickly
X 3. quick
X 4. fast

Q.8 Read the following sentence and select the option that has a spelling error.

Seek help from a mental health profesional if this fear of happiness interferes with your

personal and professional life.
Ans X 1. health

X 2.interferes
o 3. profesional
X 4. Happiness

Q.9 Select the most appropriate meaning of the given proverb.

It takes two to tango
Ans X 1. Both parties in a difficult situation can be blameless

X 2. Only one party takes the blame
X 3. A third person decides who is to be blamed

o 4. Both parties in a difficult situation are equally responsible

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
630680292064
6306801136137
6306801136138
6306801136136
6306801136139
Answered

2

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
630680292052
6306801136091
6306801136090
6306801136088
6306801136089
Answered

3

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
630680292055
6306801136100
6306801136101
6306801136103
6306801136102
Answered

1
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Q.10 Select the most appropriate option to fill in the blanks.

Jagadish Chandra Bose was one of the greatest scientists of the world
remarkable biologist, botanist, bio-physicist and science-fiction writer.

Ans ¢ 1. not only, but also
X 2. s0, that

< 3. however, nevertheless

X 4. as, as
Question Type : MCQ
Question ID : 630680292063
Option 1 ID : 6306801136135
Option 2 ID : 6306801136132
Option 3 ID : 6306801136134
Option 4 ID : 6306801136133
Status : Answered
Chosen Option : 1
Q.11 Select the most appropriate meaning of the given idiom.
Fit as a fiddle
Ans X 1.To be musical
< 2.To be consistent
o 3. To be very healthy
X 4. To be fidgety
Question Type : MCQ
Question ID : 630680292054
Option 1 ID : 6306801136098
Option 2 ID : 6306801136099
Option 3 1D : 6306801136097
Option 4 ID : 6306801136096
Status : Answered
Chosen Option : 2
Q.12 Select the option that can be used as a one word substitute for the underlined segment.
Mr. Gupta completed a course on the study of the Earth's structure, and its formation.
Ans X 1.cytology
X 2. morphology
X 3. cartography
o 4. geology
Question Type : MCQ
Question ID : 630680292056
Option 1 ID : 6306801136106
Option 2 ID : 6306801136104
Option 3 ID : 6306801136107
Option 4 ID : 6306801136105
Status : Answered
Chosen Option : 4
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Q.13 Select the most appropriate option to fill in the blanks.

When we were at _____Delhi Zoo, my daughter played with ____baby elephant.
Ans X 1.an, an

X 2. a,the
8
o 4.1he, a

Status

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

. Answered

Chosen Option :

MCQ
630680292060
6306801136121
6306801136123
6306801136120
6306801136122

4

Q.14 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

A. People, started experimenting with nest boxes to help species revive.

B. Though not all efforts succeeded, birds that used cavities to nest like mynas, parakeets,
owls, robins and sparrows stood a better chance.

C. However, nest boxes can be quite a problem too, often, some other species, not the one
you want, occupy the nest box.

D. The Industrial Revolution brought habitat loss, excessive use of pesticides, and pollution in
its wake, resulting in dwindling bird numbers.

Ans ¢ 1. DABC
X 2.BCDA
/< 3. ABCD
X 4.CDBA

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 3 ID :
Option 41D :

Status :

Chosen Option :

MCQ
630680292059
6306801136116
6306801136119
6306801136117
6306801136118
Answered

1
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Q.15 Select the most appropriate ANTONYM of the given word.

Clandestine
Ans X 1.Concealed
X 2. Secret
o 3. Forthright
X 4. Cloudy
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

MCQ
630680292051
6306801136087
6306801136085
6306801136086
6306801136084
Answered

1

Section : General Knowledge

Q.1 ufgen fdg Ry gaffarg sifaffaa arefiadd storan adff @y arvara sirer ghar?
Ans X 1.1858

2. 1856
/< 3.1865
X 4.1875
Question Type : MCQ
Question ID : 630680292066
Option 1 ID : 6306801136145
Option 2 1D : 6306801136144
Option 3 ID : 6306801136146
Option 4 ID : 6306801136147
Status : Answered
Chosen Option : 2
Q.2 WRATATA SHIvTAT G Gg[TE! Udarivm 8 e Fges S ?
Ans o 1. ufddadiw
X 2. Udehsid
X 3. 3Tms
X 4. gfaviadia
Question Type : MCQ
Question ID : 630680292076
Option 11D : 6306801136184
Option 2 ID : 6306801136186
Option 3 ID : 6306801136185
Option 4 ID : 6306801136187
Status : Answered
Chosen Option : 1
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Q.3 wivnt Aaz # @@= S avrgiT ad4 Ty fAumas=a RaffRa aewmEr g
rHAaT Gent Aafaes moTreRge sIueaaraut dhelt ST ?

Ans X 1. Tsgurd
X 2. dauy

o 3. YRA AP
X A gEgEst

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 3 1D :
Option 4 1D :

Status :

Chosen Option :

MCQ
630680292074
6306801136178
6306801136177
6306801136176
6306801136179
Answered

3

Q.4 R yafai=ar snuR, @relterdh! stor dfur a9 sreger gia?
Ans X 1. #Aldiee Ag®

X 2. SATEETd Ag%

o 3. 31, TGig U9IE

X 4 3 &t aR. sfidEar

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 ID :

Status :

Chosen Option :

MCQ
630680292073
6306801136172
6306801136174
6306801136175
6306801136173
Answered

3

Q.5 @refterdd ahturet 9t ureaT AgREieft deEfda sng?
Ans X 1.7

o 2. Marad
X 3. SR
X 4797

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
630680292075
6306801136180
6306801136181
6306801136183
6306801136182
Answered

2
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Q.6 & Aol UdaT ST oAU YeTahR HuTRt ufge! aa=h! gid g saawd d i
T UG UHGE TTet.
Ans X 1.9REU T
X 2. 3aee fAem arR
o 3. TSI ARG I
< 4. HereHT et
Question Type :
Question ID ;
Option 11D :
Option 2 1D :
Option 3 1D :
Option 4 1D :
Status :
Chosen Option :

MCQ
630680292065
6306801136142
6306801136141
6306801136140
6306801136143
Answered

3

Q.7 IR MRATI AR Seedr Az @ A« sorar FEm itead Ja?

Ans X 1.fa9m
X 2.zfas
& 3. TR
X 4 TMoRH
Question Type : MCQ
Question ID : 630680292067
Option 11D : 6306801136150
Option 2 ID : 6306801136148
Option 3 ID : 6306801136149
Option 4 ID : 6306801136151
Status : Answered
Chosen Option : 4
Q.8 sufas Amiadie A aiFidia A=t ~i<aT RIEE detear gTH RIATERTT &1 FgoTdard?
Ans o 1. FJIRUT WeAlR
X 2. UgTd A
X 3. IR WAlaR
X 4. vty & o
Question Type : MCQ
Question ID : 630680292072
Option 1 1D : 6306801136170
Option 2 ID : 6306801136168
Option 3 ID : 6306801136169
Option 4 ID : 6306801136171
Status : Answered
Chosen Option : 1
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Q.9 Sl [T AETAT AN HI0TA Uit ISUBT FgUH T hid?

Ans X 1.0dgr
X 2. ST IUETR
X 3. ASTHETS echaaT
o 4. 3 ag
Question Type : MCQ
Question ID : 630680292069
Option 11D : 6306801136156
Option 2 ID : 6306801136157
Option 3 1D : 6306801136159
Option 4 1D : 6306801136158
Status : Answered
Chosen Option : 3
Q.10 ardht FHivrar s=a=rear gsRraT AT fFarT ang anfor @t mizarmn agifZurar RnrsEesaE
TOR FTAT 319 T ST?
Ans 1. UgHERE
X 2.3 HER
X 3. Zfgurare
X 4.gdare
Question Type : MCQ
Question ID : 630680292077
Option 1 1D : 6306801136189
Option 2 ID : 6306801136190
Option 3 ID : 6306801136191
Option 4 ID : 6306801136188
Status : Answered
Chosen Option : 2
Q.11 uan IaTfeara gu=ar IATidard ®uiar gluar=ar ST & FguTdrd?
Ans X 1.QRT
X 2.PRT
o 3. MRT
X 4.SRT
Question Type : MCQ
Question ID : 630680292068
Option 1 1D : 6306801136155
Option 2 ID : 6306801136153
Option 3 ID : 6306801136152
Option 4 ID : 6306801136154
Status : Answered
Chosen Option : 2
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Q.12 YRars afgeh 42 YRa o 39 Hvrdn &9 RATFRIETAT UTael?
Ans X 1. 7d Reeft - st

X 2. 94t feeedt — @er

X 3. qaieR - 98
o 4. 7! feeett — arrordl

Question Type : MCQ
Question ID : 630680292071
Option 11D : 6306801136166
Option 2 ID : 6306801136165
Option 3 1D : 6306801136167
Option 4 ID : 6306801136164
Status : Answered
Chosen Option : 4
Q.13 T AP I HgRIET A Wletietdeh shioredr fSiegra mg?
Ans o 1. IFRTEAT
X 2.91%s
X 3. giemg
X 4. ST
Question Type : MCQ
Question ID : 630680292078
Option 1 ID : 6306801136192
Option 2 ID : 6306801136193
Option 3 ID : 6306801136195
Option 4 ID : 6306801136194
Status : Answered
Chosen Option : 1
Q.14 <41 WRTH a1ftfer US=aHT GTYRoTgol 80 cm 9&iT Y 3rad, T W hivTaT U 2t Sheft
STa?
Ans X 1.\ ot
o 2. TREarg UAdl
X 3. f&aes o<t
X 4. sniferarl it
Question Type : MCQ
Question ID ;: 630680292070
Option 1 1D : 6306801136163
Option 2 ID : 6306801136161
Option 3 ID : 6306801136162
Option 4 ID : 6306801136160
Status : Answered
Chosen Option : 1
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Q.15 b IS g1 UTHEAT WictieTdeh! ehioTeT Twareft Haferd ghar?
Ans X 1.uf9m e

X 2. TeRIq

o/ 3. HERIE

X 4. IR U

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 1D :
Option 41D :

Status :

Chosen Option :

MCQ
630680292079
6306801136197
6306801136198
6306801136199
6306801136196
Answered

3

Section : Mental Abilty

Q1 Recmr seAEA Y FTIaT HEHaU=ar A TgHeY SATAUM Arec=tsr 3o qary f&asr.

Yy A
AN 1. 3T : 7
X2 9§ 1 Heed
X3 §eT: 93
X 4. i%ﬁiE.: IH
Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

MCQ
630680292083
6306801136215
6306801136212
6306801136213
6306801136214
Answered

1
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2 O + B FUrr ‘O & B =M #1F IE,
O - B /U= ‘O § B ¥ I8 3T,
O x B ¥t ‘O & B =t 3§ 3¢,
O + B #gurt ‘'O & B = Fowhr 3.
@reitel WATRONS P ¥ M Ted &1F A1a H1g?
Kr PxO=+L-N=+M

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
630680292088
6306801136234
6306801136232
6306801136235
6306801136233
Answered

1

FHAINE Hfegar nfor gar geueEs B et smar
Ans v . 7

X2 5

X386

X4 9

Q3 43 Ragaredi=ar var F9i, sfeaarr FAF g 37 a1 g 0T Sa FAE oA 15 & .

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 1D :
Option 41D :

Status :

Chosen Option :

MCQ
630680292080
6306801136201
6306801136200
6306801136203
6306801136202
Answered

1
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Q4 Rz HTFATeAT 3T SI[ell HREAT ST ABUMY 3Heh gauT gia#AT fAasr

3

s

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
630680292091
6306801136247
6306801136244
6306801136246
6306801136245
Answered

1
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Q.5 o v qeuEE dle grEEa fRer FEome, Y ASEr THeedr TS FErea afderear dEe aar
3Mga.” X e ornfErde wr el F17 Ao 32

Ans X1 gder
X2 HIEY
X 3. gfSem=r o915
vs R
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 |D :
Status :
Chosen Option :

MCQ
630680292089
6306801136238
6306801136237
6306801136239
6306801136236
Answered

4

Q.6 ‘LIBERATE' 71 eregrq, (J¢ T8 AW 32 agr femeh) sem B 3R Szar smea, soiF e
TEAETFATA=AT e FEAT &7 ST JUFRATETT cA=IeFaTa=aT HeT=ar FEisdad HR?

Ans 1. 2
X220
X3 3
X 4 1
Question Type : MCQ
Question ID : 630680292087
Option 1 1D : 6306801136230
Option 2 ID : 6306801136228
Option 3 ID : 6306801136231
Option 4 1D : 6306801136229
Status : Answered
Chosen Option : 1
Q7 MK 18 & JH 21 off var fafire gy #afla M. sarawsr, PN 17 § MK 20 of @afog sme. a7
AT TR FTEOT Foard, US 15 § Trelrerdehr emelr Fafad 3mg?
A X1.PR 20
v2 RP 18
X3 8Q 18
X4 QP 19
Question Type : MCQ
Question ID : 630680292084
Option 1 ID : 6306801136217
Option 2 1D : 6306801136218
Option 3 1D : 6306801136219
Option 4 1D : 6306801136216
Status : Answered
Chosen Option : 2
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Q8 greiter wferhcer TeaAfRITRT= (?) FWT U5 YUY 3elshid HER HTOT Feam fast.
S 28715 12 2T M 22 R, ?

Ans X1 H 3for 26
v 2 H 3for 27
X 3. F 3for 27
X4 G 3for 26

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 1D :
Option 41D :
Status :

Chosen Option :

MCQ
630680292081
6306801136204
6306801136205
6306801136206
6306801136207
Answered

2

Q9 grefrer THEI0T TN FIUATTTET FIUT 1T g HEaATace Halr qrigar?
I +*6+ ox3-0=4}

A X1+ for x
v 2 x HIfOT +
X3 + for -
X4 + 3for +

Question Type :

Question ID :

Option 11D :

Option 2 1D :

Option 31D :

Option 41D :

Status :

Chosen Option :

MCQ
630680292094
6306801136259
6306801136258
6306801136257
6306801136256
Answered

2
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Q0 zrfrer anferra weafemr=ar (?) Sl 3= oy gEaT e s@ige @
1, 60, 121, 188, 259, 332, 411, 494, 583, ?

Ane X1 630
v 2 680
X 3. 653
X 4. 667
Question Type : MCQ
Question ID : 630680292092
Option 1 1D : 6306801136249
Option 2 ID : 6306801136248
Option 3 ID : 6306801136250
Option 4 1D : 6306801136251
Status : Answered
Chosen Option : 2
Q1T 7 T 5% Fe-FAgia SEwaa Iigedr H0T Stedr He= Jeamaee el 0T Fc
RO HeR-THEAT FTS0 eEHendia FAR ASe, 97 JEUSAT ACTEEr FI0TEr HET-THE TE?
GETR, GDTR, GETY, GSBD, GCGD
Ans - 1. GDTR
X2 GCGD
X3 GETY
X4 GETR
Question Type : MCQ
Question ID : 630680292086
Option 1 ID : 6306801136225
Option 2 ID : 6306801136226
Option 3 1D : 6306801136227
Option 4 ID : 6306801136224
Status : Answered
Chosen Option : 4
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V12 oo gr et A W,
'+’ T Y FATERT HTE,
+ =T 37 TOMHR AT, oY,
‘~! FT HY HETFR HTe.
X Wreltel FAFRONT FeA=eerd (?) Hed fahdr 38er?
T2t =7 % 13= 7

Ans X 1_5353
X2 55
V3 45
X4 25

Question Type :

Question ID :

Option 11D :

Option 2 ID :

Option 31D :

Option 41D :

Status :

Chosen Option :

MCQ
630680292093
6306801136252
6306801136255
6306801136254
6306801136253
Answered

3

Q13 R Afera e JR F37aR sReT@ & Ao qUT SO 3R GO f&aw.
TM_ _UTMCP_ _MCPUT _CP_

Ams - X1. CPUTUU
X2 CPCTMU
X3 CPUTMC
v+ CPUTMU

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 3 ID :
Option 41D :

Status :

Chosen Option :

MCQ
630680292082
6306801136208
6306801136209
6306801136211
6306801136210
Answered

4
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Q.14 7 @i 4 3 TEANS AR SEEA igedn Hfor faEear W deeEee Fer nfor
: s - B r o i s i

7465, 4657, 3657, 5767, 6456

Ans X 1. 7465
X 2. 3657
v 3. 5767
X 4. 6456
Question Type : MCQ
Question ID : 630680292085
Option 1 1D : 6306801136223
Option 2 ID : 6306801136220
Option 3 ID : 6306801136222
Option 4 ID : 6306801136221
Status : Answered
Chosen Option : 3
Q.15 v g tftrar faear TEei=ar G =] ameTel. 400 #HreX oA, o Seaies el IO 400
HreT Traa . 797 o =TT 359 IS H10T 600 HreT Iraa . Ja7 o S IS T
600 HreT Trera RN, 9=d, & T=ar sedeE g for 200 ey Trem A & aar G
geardrear Uy B seEt 3nfor Aorear e amg?
Ans
v 200 #rex, iaor
X 2. 200 HEI, 3cX
X 3. 400 #Hrex, Zfayor
X 4 400 #Hrex, 9=
Question Type : MCQ
Question ID : 630680292090
Option 1 ID : 6306801136243
Option 2 ID : 6306801136242
Option 3 ID : 6306801136241
Option 4 ID : 6306801136240
Status : Answered
Chosen Option : 1
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